Possible Outcomes:
The Velcro balls are numbered 1 – 10. Write in the corresponding number of your choosing for each outcome. 
Tip: Use pencil and you can switch numbers around to speed up or slow down the activity.
[bookmark: _GoBack]**If the team chose to the FUSARIUM WILT pathway and they were “successful” based on the number of the ball that landed in the nucleus, let them know that the pathway has no impact on the ripening process and therefore they must choose a different pathway and repeat the entire process.** 
Gene Editing: 
___: Successful replication of DNA
___: Cell malfunction: failure to replicate the DNA
___: CRISPR CAS-9 clipped too much of the DNA and insertion failed
___: Cell malfunction: failure to replicate the DNA
___: CRISPR CAS-9 clipped too much of the DNA and insertion failed
___: Cell malfunction: failure to replicate the DNA
___: CRISPR CAS-9 clipped too much of the DNA and insertion failed
___: Cell malfunction: failure to replicate the DNA
___: CRISPR CAS-9 clipped too much of the DNA and insertion failed
___: Cell malfunction: failure to replicate the DNA
Transgenesis:
___: Successful replication of DNA
___: Cell malfunction: failure to replicate the DNA
___: The “shrapnel” from the gene gun damaged the cell, insertion failure
___: Cell malfunction: failure to replicate the DNA
___: The “shrapnel” from the gene gun damaged the cell, insertion failure
___: Cell malfunction: failure to replicate the DNA
___: The “shrapnel” from the gene gun damaged the cell, insertion failure
___: Cell malfunction: failure to replicate the DNA
___: The “shrapnel” from the gene gun damaged the cell, insertion failure
___: Cell malfunction: failure to replicate the DNA
